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giflejenrssi : (1) Simaisg lamésenn slurs &L ufleurdl o eremHm 6T euTLIS 6N 68T

sfluriggé Qamerereyb. <ssluAcd GopuWlmlulea D&
sesreniuurerflib o L angwrs OsMNadlsseyLb.

(2) Beod Hvewg smLY ewlaar T(PSIUSDED 2.ECHTIy(HeuSMESLD

Lweru®ss CouanBid. LLhiseT eumjausnE Querdler LLTLIRSSELD.

nstructions : (1)  Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor iminediately. - ’

(2)  Use Blue or Black ink to write and underline and pencil to draw diagrams.

FOILIL : @eIeITTSSTET H6sHE LGSE®aTs: QaTarTLg). -

ote : This question paper contains four parts.

L& - I/ PART - I

ol ¢ (i) SEOEVISG Gllaniss@hsEL0 ellenL_wefl&sayb. _ 12x1=12
Qasr@&sLul_(Herer B6E WLWIHH elenLsafled ,L&smL'g_. FHLenLw |
A lmars Caibds®ss GHNULBLer aflenudemarub Cﬁsrrg@
ET(LSaLD. AT

(i) Answer all the questions.

(i) Choose the most appropriate answer from the given
the option code and the corresponding answer.

ite : _
four alternatives and write
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&0 %QWWQU mb efens ereugl w@ EDWMELD.
’ n

(=) 98 ean (ep) 9.8%104 N

(®) 98x10! eoLen (rF) 980 @iy

One kilogram force equals to :
(@ 98 dyne (k) 98x10'N

(€)  98x10% dyne (d) 980 dyne

S gHuevad Spear GmpurlmLs sl Qe o sajaus
(=) aYQears (=) GYCaers:

(2) ey () @ @elw Qevens
The eye defect ‘Presbyopia’ can be corrected by :

(a) convex lens (b) / cohcave lens

(¢) convex mirror (d) Dbifocal lens

10 sagpib Bengpniigong e WaspHgidar @ran® ydralls@sdaGu paigs
Qeiwiu®n Game 100 ] dalld suydralla@EidorGu edar Baawess

Geugun () eremen ?

(=54) 0.1 GaundbiZ (e21,) 10 Gaumrdis
(@) 100 Geuréor (1) 1000 Ganrdi.

The work done in moving a charge of 10 C across two points in a circuit is 100 J. What is the

potential difference between the points ?
(3 01V M 10V

¢y 100V (dy 1000V
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Gsu_lpma; asglrﬂu.w;a;gé\mﬁm 5““‘~@{.F:§6Uff - £ 4,67!5;4?74-0
_ _ g AN &,
(=1) Qu&Qsrred (c‘%b) gaifletr eﬂu_,yﬂ 0{ k’il 40/((]({4-- y
(&) yreaim_gein - ) Beba G 2, %// "/4 U 28,
V4, Ory g, 447 4
Artificial radioactivity was discovered by : 3 \_\'/f(/ 4 2 ‘8{ O
. ; s O’f & C]r
(a) Becquerel _ (b) Irene Curie %
() Roentgen ' (d) Neils Bohr |

@rsssaemel 2 Haursaadld Camaliu@n epsfworer 2 Carsn

(=1) Ag (<) Hg (@) Mg () Al
is'an important metal to form amalgam.
(@) Ag (®) Hg (c) Mg @ Al

GO L Qaninfleauid, SiWEss5m5 SfafisEbCurg Bingded eruele

SEOTHDEN
(=) wrHmLSleene | ‘(%) <5 afsdng)
(8) @maﬂmgﬂ (F) eflener @edana

When the pressure is increased at constant temperature, the solubility of gases in liquid

(@) no change (b)  increases

(c) decreases (d) mo reaction

P saysedle pH Ay 3 erafle, oigen [OH™] Qﬁxﬂm ereme ? G

(=) 1x107*M () 3 M (@) 1x10-1M (F) 11IM

-] concentration is :

The pH of a solution is 3. Its [OH |
@ 1x10-1M (& 1M

@ 1x107*M by 3M
[ Awuus / Tumn over
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10.

() ersenred Grrﬂg_r,c.u

(&) Tdsamis sifen opsdnGadoLd
() ergsCaned A58 DCeammmid

CH;OH + 30, — 2C0, + 3H,O s :

(@) Reduction of ethanol

(b) Combustion of ethanol

(c) Oxidation of ethanoic acid

(d) Oxidation of ethanal

srevCGuflwenr L enL_ser Couflar LEHle sraTiiLBhEng).
(1) yentl (=) 95

(@) Quflensgdler () A85Csme

Casparian strips are present in the of the root.

(a) cortex b) pith |

() pericycle | | @ endodermis

s GGrrGurGemble Geean Crmilur ewwsHd sreriLdEDS.
(1) eBaonClsaiis (=) QulLregear s
(8) su-GQulLrbsear s () S&ECrrogen s
The centromere is found at the centre of the chromosome.,

(a) Telocentric (b) Metacentric

() Sub-metacentric (d)  Acrocentric
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(=) Guw 31

2 s 2z, (%) &ECLruf 2
World AIDS Day : :

D
(a) ecember 1 (b) May 31

() April 22 (d) October 2

12. S@FUL Db sroammaisemenr 2 (heun&s LweTuBn QuerQumger ergl ?
' (<=1) Paint (<21,) PDF
(@) MS Word () Scratch

Which software is used to create animation ?
(@) Paint (b) PDF

(c) MS Word (d) Scratch

L@ES - 11/ PART - 11

@ e wefll&sayb. Qe eTawT 22 -8

@iy : eemeuGueand T cflenmd & @5s s

SL_L_MWLONS aQenL_wenlH&ayL.

Note : Answer any seven questions. Question No. 22 is compulsory.

13. @ FCBemfl - euenyuimi.

Define one Calorie.

1 QpLLeoe GTETMTE ‘GTGNGOT

. tudinal wave ? L
What is 2 1ongit [ Smuys / Tunjlover
%
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16. Qun@gs@a;_
l L. leoars Qswe Qur@d -OH (i) Quenfer
’ 2. udler aueerwd Camorigdr () Qumrlirdwn evgwGrl
.- 3. Hepapr Geiwmisedr (i) Y osamiraw
4. Geruy (iv) uyrmeni
5. smiCur eueemwus Cambiiser V) rFasan J

Match the following :

1. Functional group -OH (i)~ Benzene

2. Heterocyclic compounds (i)  Potassium Stearate
3. Unsaturated compounds (i)  Alcohol
4. Soap (iv) Furan
5.  Carbocyclic compounds (v)  Ethene

17. @pw eurdeyseflen aphfluggend ereren ?

What is the importance of valves in the heart ?

“Cundni” cranprd eraTar 7 S@F iUy @aupesirs psd@efldsamb ?

18,

What is Bolting ? How can it be induced artificially ?
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19. @STRESILL @erer ULEHD A B, C D 9y urshs@er SiwLwLTaTD SrewTayL:

20.\’ fled upeedar HageumLbS EmsgseT, R QupUul L Uy, gear g

@QupLIL L LewTL] ere <ieppsalLHEnS ?
Why is it called an acquired

The aegenerated wing of a Kiwi is an acquired character.

character ?

A o . . ?
21, wriigar QaulLtubasre o TG 6JleneTai&eT Wreal

What will happen if trees are cut down ?

R

B5Csaller 2emer eilomisatle s56Ss @y SRS,
ethane (CI-I4)'.

22,

Find the mass percentage composition of m
[ ﬁ@ﬂuﬁ / Turn OVer
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@@ULI Glmsu@u_l@jm 6I(Lp Qﬁlmrra;a;@as@ Qg]ml_u_mﬂaga;mm eﬁlsmrr eremr 32 -55(?4 7
SLLMuors cferlwefésalib. x4s

Note : Answer any seven questions. Question No. 32 is compulsory-
23.  BeeSlwey QUITWL| FLDGHTLIML 1g.6060 S(Hal.

Derive the ideal gas equation.

24. AL lunieney pmID FITLILMT®6 G@DUTHEMET CougLBS8!5.

Differentiate the eye defects : Myopia-and Hypermetropia.

25. eoum, LT wpmb smors sHiseflean Larysamen @DQ@&.

Compare the properties of alpha, beta and gamma radiations.

26." " seusm Gy e luder uu_leinurr@a;em_erf-sr@g,w;.

Write the applications of Avogadro’s Law.

™

S

27. (i) o-Corss somal GTGMDITED Grevresr ?
(i) e-Gorss saemel D_(HEUTEGEUSDETEN STTERTEISDETES SnDid.

(i) Whatis an alloy 7

(iiy State the reasons for alloying,

Caminden SIUMDWIESD (PP eNeT&GS.

28.

Explain the mechanism of cleansing action of soap.
't ¢ "
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. ’-29." @iL_mL.USﬂGI) BHenL_GLmiLD @QLUQuuwirsS ﬁasgi)#ﬂuﬂﬁh'uq.ﬁmeua;mm o5

How does locomotion take place in leech ?

30. Blurrefen <yenwlieL UL g e efeufgsayib.

With a neat labelled diagram, explain the structure of a neuron.

3. ()  wawenrfliGenmed o @ILTEESmIqWL eflenemeyser wWreneu ?
()  wewrewrfienu Belli ereuaummy sHUIST ?
()  What are the consequences of soil erosion ?

(i) How will you prevent soil erosion ?

32. 90 Hz oiflrCleuamenent 2 enL i @951. ppewrerg geludear HangGeassHe (1/10)
wLBEG Caussdle eue Hoaoula oser CalGnar amLdng. CslGprmed
2 emrlL@D iSlrCleue eremer ?

A source producing a sound of frequency 90 Hz is approaching a stationary listener with a
speed equal to (1/10) of the speed of sound. What will be the frequency heard by the

listener ?
L@d - IV/PART - IV
GO : DEnETSG| CHlETES (e @D afeLwefldsa)b. Caemeuwrear @Lmsaiied LIL iy
GUEDTILIGYLD. 3x7=21

Note : Answer all the questions. Draw diagrams wherever necessary.

33, () () 2ps wrprs Gamiurimis sl oigemen QuwILn9Es.
(i) HoiusHpen sdHieud uTLD.
I|GI
[ HOUUS / Turn oy,
!\i“
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WlenGenm Lib erempmed erene ?

LﬂGﬁTGmWL'_I_‘é';QGEST Swmss s, igamen mmuu_@]é;esmlb-
LﬂG&erwLLgmg Tg Smeudler apaid oeref @3'4-”4&3 ? sigeoa #0
L8 6traigh ) 6o GreueuTmy @enaRTésLiLL Ceuam(Hi ?
State and prove the law of conservation of linear momentum.
State the principle of moments,
OR
What is meant by electric current ?
Name and define its unit.

Which instrument is used to measure the electric current ? How should it be
connected in a circuit ?

FrD 2 Hl@hah CammisEssE, mn 2 Nésd samrub GamphisErsELD
Qe Cwwrer CaumurBser wireal ?
et GrCgemsaia Breump o Wlflamed sD eurpdlenmar. erem ?
FHE A6TE| FHEISLD GUENTWDIEGSELD.

360605
Serefenar wpmd Sarmeflaar Camubs55.
A erénp Seimoi Crogens QeuLiLBSEIL Qunps Amsps ‘B whpId
‘C eramp euriiomas snEng. C e amymal hifld CrgisgnGung

- fl@G SETELOWITE wrmég erefld, A, B LOOID ‘C’ -ewE STLME.

In what way hygroscopic substances differ from deliquescent substances ?

The acquatic animals live more in cold region. Why ?

Define volume percentage.

OR
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(i) A solid compound ‘A’ on heating decomposes into gas ‘B’ and “C
the gas ‘C’ through water, it becomes acidic. Identify A, B and C.

Differentiate reversible and irreversible reactions.

On passiﬂg

35. (1) Coumur® Hms.

0 20 doslons srer G wpgo G dmslens sray Geut.
(i) STOyIETaT HEUTED WHMID STHHlder Heursib. »
3|060g
(=) @)  GCrrGuorGemiler wiemwiiemu efauflssayib.
(i) Caumupsg!s
2 L& Q& e Hdlsens wpmib @enéaed éaﬂ Hflsens.

(a) Differentiate the following :

@ Monocot root and Dicot oot

(ii) ~ Aerobic and Anaerobic respiration

OR

(b) (i) Explain the structure of a chromosome.

(i) Distinguish between somatic gene therapy and germ line gene therapy.
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